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ECONOMICS
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

In the standard adjoining diagram, the measure of consumer surplus is

Y
Money P
A E
B IC,
ICq
X
O M Q Q1
Commodity
(1) PA (2) OB
(3) AO (4) AB
A cartel aims at maximising
(1) individual profits (2) industry profits
(3) share of output of members (4) goodwill of the members

The statement that, “no one can be made better off without making someone worse off”
describes which of the following ?

(1) Pareto Optimum (2) Nash Equilibrium
(3) Low level Equilibrium Trap (4) Cournot’s Equilibrium

Slutsky equation explains the

(1) Demand for durable goods.

(2) Supply of durable goods.

(3) Split between price, income and substitution effects.
(4) Demand for rare or non-reproducible goods
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1. U T A AR H SUMiRT ST H A ¢

Y
Money P
A E
B IC,
IC,
X
O M Q Q1
Commodity
1) PA 2) OB
3) AO (4) AB
2. SCUSH-TH (FISe) 32T b Tehad LT & 9
(1) =AfoTTa o (2) = H T
(3) TS F SR T e (4) == H =
3. “fordl ol 9ga ST fomT fomdlt shl Sgay @l ST ST Hehdl &7 I8 hed (ifehd | fohdehl oM
FATE ?
(1) el g (2) T EgeH
(3) 7= wRIF T ST (4) A G

4.  TACTH TR SRS HT ©
(1) foohres aeqatt wf o
(2) fewrs axqaT H SMYId i
(3) Hod, 3T qAT WAL Trait o & for T ot
(4) ToeT 3Tan STYFSCUTRHIT a&q3i i T
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5. L shaped average cost curve is witnessed in the large firms because

(1) Only the law of increasing returns operates.
(2) The law of constant returns to scale operates.
(3) Only the law of constant return operates.

(4) The operation of law of decreasing returns is continuously postponed.

6.  Consider the following statements regarding the long run equilibrium in the monopolistic
market.

l. Firms are in no profit no loss situation.
Il.  There is no entry or exit of the firms.

Which among the above statements are true ? Answer from the code below :

Code :
(1) Only I is true. (2) Only Il is true.
(3) Bothland Il are true. (4) Neither I nor I are true.

7. Which of the following is not a problem of Insurance Markets ?
(1) Adverse selection (2) Moral Hazard

(3) Asymmetric Information (4) Principal-agent problem

8.  In consumption, inferior goods have
(1) Negative income effect (2) Positive income effect

(3) Zero income effect (4) Infinite income effect
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L Fa I w fefa g E
Il RHT ST ToRT 32 e e |
ST AT H B TR E 2 A UMW P T3S
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(1) FaTATTE | (2) FEANTEE |
(3) I1RIISAITEE | (4) 13RI HEF qE TEE |

7. Toifea @ @ i ST SR S geE T8l 2
(1) videe === (2) Hfde® T
(3) STEHiEE goT (4) TEIwAT-SATRAT T

8.  SUNNTH T orqat W e €
(1) OTcH 3T T (2) &FTCH 3T T

(3) ¥ Iy (4) e s e
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9.  Consider the following statements :

l. Inflation is advantageous to debtors.
Il.  Inflation is advantageous to the bond-holders.

Which of the statements given above is/are correct ?

Codes :
(1) Tlonly (2) Honly
(3) Bothlandll (4) Neither I nor Il

10. “Near money’ is correctly defined as an
(1) asset which has 100% liquidity.
(2) asset which has no store of value function.
(3) asset which is a medium of exchange.

(4) asset which fulfils the store of value function and can be converted into a medium of
exchange at a short notice.

11. Match the following :
List— 1| List—11
(Multiplier)
A. MPC=02 () K=2
B. MPS=05 (i) K=166
C. MPS=0.75 (iii) K=133
D. MPC=04 (iv) K=125
Select the correct answer from the codes given below :
Codes :
A B C D
@ O Gy i)y o (v)
2 (@) (iv) (i) (iii)
@) (v) () (i) (i)
4) (i) () (iv) (i)
Paperat & 0Ll
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(1) el (2) e 11

(3) 13 IIgA (4) 13RI H e ol

10. e TET 1 WE U &
(1) uiur fSTEH 100% TR & |
(2) ufuta fad goa g wE 7@l |
(3) uREuRd T fafHa &1 arem € |

(4) il St ged G= 61 HE g0 e & qdn 9 areq e W fofme o wee 1 s
e T e € |

11. TR ot ol Y

=it - | =it - 1
(TTUTH)
A. MPC=02 (i) K=2
B. MPS=05 (i) K=1.66
C. MPS=0.75 (iii) K=1.33
D. MPC=04 (iv) K=1.25
TAfcIRaT el # | el IR I g Y
FT:

A B C D

® 6O G i) )

@ () @ 0 i)

@ @ O i) )

@ i) @ (v ()
Jot6 7T Paperll
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12. In the context of steady state growth in Solow’s model, the output growth rate overtime

will be
(1) increasing (2) decreasing
(3) constant (4) fluctuating

13.  Who among the following economists assume dualism in the economy ?
l. Ranis and Fei Il. D.Ricardo
[1l.  Robert Solow IV. R.Harrod

Answer from the codes given below :

Codes :
(1) All the four above (2) Onlylandll
(3) Only IV (4) 1,1l and I

14.  Who among the following, originally, formulated the ‘Turnpike Theorem’ ?
(1) Dorfman, Samuelson and Solow (2) Radner

(3) Koopmans (4) Von Neumann and Morgenstern

15. Backward and forward linkages are relevant for which kind of growth strategy ?

(1) Unbalanced growth (2) Trickle down growth

(3) Balanced growth (4) Equilibrium growth

16. ‘Reserve Army of labour’ term was used by who among the following economists ?

(1) J. Schumpeter (2) J.R.Hicks
(3) Karl Marx (4) T.R. Malthus
Paper-I1 8 J-01-16
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12. Gicl Hieet § 9dd i i fefd & T § S0 e gig 38 &t
(1) =EEe (2) TEEH
(3) fer (4) SAR-F@TE arel

13.  feifer o fopmr sreienfesal = srefeawen § 5qaTs o UReHeaT i 2
L WHw@E®
I 2 R
. e |iet
V. R e
Fe KT T Fe & W
FT
(1) Swgw = 2) Fae1dR
(3) AV (4) 1,113

14. TR | e JoT ©9 § ‘SRS TR’ 1 ATqUIE (621 2

(1) ST, IUAES Ue Fiedl (2) TW

(3) FHEH (4) TH A TF AR

15. YOI UE SUATH A (foereheT) FeifRd W foh TR bt Wafey ToITG % foTw urifiTes & 9
(1) e 9gtg (2) R (fewet gre) 9atg
(3) ferd Wi (4) ur=dgis

16. ‘A AR G 1 STFT iR § 9 feg arivmet gry e e g 2
(1) . gediex (2) IR fewa
(3) el H (4) IR T
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17.  Which production function admits both Harrod-neutral and Hicks-neutral technical

progress ?
(1) Cobb-Douglas (2) C.ES.
(3) V.ES. (4) None of the above

18. Match the following :

List— 1| List - 11
(Plan Model) (Proposer)
A. Bombay Plan (i)  Sriman Narayan
B. Gandhian Plan (i)  M.N. Roy
C. People’s Plan (iii) Jai Prakash Narain
D. Sarvodaya Approach  (iv) Birlaand Tata Group

Select the correct answer from the codes given below :
Codes :
A B C D
@) Gv) () (i) (i)
@ @0 @ (i) (iv)
@) @iy @) (i) (i)
@ @ (v () (i)
19.  Which among the following is not a criterion for declaring special category state ?
(1) Over population (2) Poor infrastructure

(3) Hilly and difficult terrain (4) Non-viable state finances

20. For the testing of consistency and viability of a planning project, which of the prices are

used ?
(1) Market Price (2) Shadow Price
(3) Administered Price (4) Controlled Price
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17. T=itha O 9 69 IART T H gUe-aee a0l Bau-aee Ml deh-iieh! W ol WiehR fhar

e 2
(1) FE-TeH (2) wiua
(3) @rima. (4) SUEw § H E FE

18. TR oht oI Y

= - | = - 1

(e e (e T
A O (i) &\ AR
B. TiHEA = (i) T =
C. Uew @M (iii) ST TRrRT AR
D. wdid surm™ (iv) fovem o zrer 9
TffEd Fei § | el S H g 1
HT

A B C D

@ vy @) (i) (i)
@ O @) (i) (v)
@) @iy @) (v) ()
@ O @y () (i)

19. TeAifehd & & i “foor ST 61 T’ i [T ST o fet Aes T2t ¢ 2
(1) ek ST (2) TS FEEE
(3) TETEr UE g & (4) ereHaRrE T fom

20. fowdt TS ORESTHT 0 Saar e SEeddl S & e it 8 § 6 9ed S

fopar ST € 2
(1) <R (2) BETA
(3) e e (4) Tt o=
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21. In which of the Five Year Plans in India, for the first time an extensive input-output model

was used ?
(1) First Plan (2) Second Plan
(3) Third Plan (4) Seventh Plan

22.  Who among the following economists developed the Reinvestment-Criterion ?
(1) Walter Galenson and Harvey Leibenstein
(2) A.K.Sen
(3) Maurice Dobb
(4) None of the above

23. Area approach to decentralised planning in India was advocated by who among the

following ?
(1) D.R.Gadgil (2) K.N.Raj
(3) Raj Krishna (4) Pranav Mukherjee

24.  Which amongst the following is included in the Capital account of the Balance of
payments ?
l. Foreign loans
Il.  Foreign Direct Investment
I1l.  Private Remittances

Choose the correct answer from the codes below :

Codes :
(1) All the three. (2) landlll
(3) HandIll (4) landll

25.  Which amongst the following options is correct for a teaser loan ?
(1) Itisan introductory rate of interest.
(2) This rate is permanent in nature.
(3) Both (1) and (2) are correct.
(4) Neither (1) nor (2) are correct.
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(1) e Fea T g eaieT (2) uH
(3) wiftw ea (4) SR H E HE T

f=ifere & fepem TR | faehsiihd AT & foTT “&41 SUTTH’ <l aIehrerd i 2
(1) =R Mefe (2) HTA IS
(3) T F (4)  soTe TS
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L focel sor
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(1) S (2) 13RI
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26. The movement of free international trade is most likely to generate short-term
unemployment in which of the following industries ?
(1) Industries in which there are neither imports nor exports.
(2) Import competing industries.
(3) Industries that sell to domestic and foreign buyers.

(4) Industries that sell to only foreign buyers.

27. Which among the following will be classified as non-tariff barrier ?
l. Phyto-sanitary measures. Il.  Import and export licensing.
I1l.  Countervailing duty IV. Environmental standards

Select the answer from the code given below.

Codes :
(1) All the four above. (2) landll
(3 land IV 4) HNandIVv

28.  Who developed the use of trade indifference curves in the analysis of trade theory ?
(1) J.E. Meade (2) A. Marshall

(3) A.P.Lerner (4) B.Ohlin

29.  Which among the following is not the main areas of BASEL Ill norms ?
(1) Risk Coverage (2) Bank branch expansion

(3) Adequate capital provision (4) Adequate liquidity
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(1) e 59 T dF ot iR = & fard g € |

(2) 3T wiqeTet ST |

(3) & JENT S B AT faaw shetatt i folshl et & |
(4) o N S Harer faawl et i skl Hd ¢ |

27. iR | e TR-R[eh 3ToRTY & ®9 | aRiighd fohal ST 2
L e e 3

II. 373G Ue aia argd e

Il SfAqeasRl Yo

V. TEER "

T 5 T e 3T 1 TAT B

%

(1) W ari (2) 13RI
(3) 13RIV (4) 111 3R 1V

28. =it O fhee =R f9gia & faeeivor § =3Ta” qexdT okl & ST ot faehiad foar 2
(1) T de (2) T AR
(3) TH &R (4) = afEfem

29. fAfcfad B & ®F U 996 111 A 1 G HREIT 6 € 2
(1) SifEq resrEa (2) % o faER
(3) AT USir vt (4) T AREAT
Jort6 15 Paperll
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30. Which among the following is most volatile flow of foreign exchange ?
(1) Foreign Direct Investment (2) External Commercial borrowings

(3) Foreign Portfolio investment (4) Foreign aid by IMF and World Bank

31. State Governments in India finance their Gross fiscal deficit by
l. Loans from the Central Government.
Il.  Market Borrowings.
I1l.  External Borrowings.

Select the correct answer from the codes given below :

Codes :
(1) Tlandll (2) MHandlll
(3) MHonly (4) lonly

32. ‘Make in India’ campaign aimed at attracting industrialists to make India a Global
Manufacturing Hub was launched on
(1) September 25, 2014 (2) March 20, 2015
(3) February 25, 2016 (4) December 30, 2015

33. The Second Green Revolution in India is necessiated by
l. Productivity in agriculture is stagnating.
I1.  Diversification of agriculture has not progressed much.
I11.  Exports of agricultural commaodities have declined.

Select the correct answer from the codes given below :

Codes :
(1) Tlandll (2) MHandlll
(3) landlll (4) lonly

34.  Which among the following is not included in the Small Savings Scheme ?

(1) Unit Trust of India (2) National Savings Certificate
(3) Kisan Vikas Patra (4) Sukanya Samridhi Accounts Yojana
Paper-I1 16 J-01-16
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. STer Sidr & ROT AT
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(1) 1w (2) 1 TE I
(3) oI 4) FFlI
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I P B SARHA CRATHE |
II. W % fafaeisor & a1 wmid & gg ¢ |
. & a&get & At § ot emE € |

T 3T 7T et ¥ TEl IR F TG A

T

(1) 13RI (2) 13RI
(3) r1eERIm 4) FFel

34. TR o | B o7 S AT § 9mieT T E 2
(1) 3IHe & 31w Sean (2) TET A THIOL-TH
(3) e ferehra o (4) GHT TR G AT
Jort6 o w . Paperll
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35. In which of the following year, all tax revenues of Centre have become shareable among
the Centre and States ?

(1) 2000 AD (2) 2003 AD
(3) 2007 AD (4) 1998 AD

36.  Which arrangement of following would show the correct sequence of demorgraphic
transition as typically associated with economic development ?

l. High birth rate with high death rate.
Il.  High birth rate with low death rate.
I1l.  Low birth rate with low death rate.

Select the correct answer from the codes given below :

Codes :
@ L& 2 I 1&
3 HLN&l 4 L&l

37. If with the increase in income, the percentage of income collected as tax remains constant,
tax will be called

(1) regressive (2) progressive

(3) proportional (4) neutral

38. Consider the following liquid assets :
l. Demand deposits with the banks.
Il.  Time deposits with the banks.
I1l.  Saving deposits with the banks.
IVV. Currency

The correct sequence of these in the ascending order of liquidity is

Codes :
@ v, HL 2 LIV, L
(3) I,V 4) v, 1L
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35. T B 50 o9 T e ol Wt Y ST by AT TS o S IS & Tt € |
(1) 2000 TEL (2) 2003 TEL
(3) 2007 TEL (4) 1998 TEL.

36. TEfciiad § & 9 | 76T Gal STHifhehd TR sl USiord hidl & fSTHeh Jay Hm=aa a7
aMférep faehra T STeT e & 2

I SHIY RS Y 3od 9 K
1. = g & QY 399 S )
L 4 9 & 9 i 79 X

T T MU e F WEF I H T R
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(1) 1,113 (2) 1L, 1311
(3) ML 11 3R (4) 1,131

37. 5 M § gl % T W % T H GRS 1T BT UTeTd Fer e &, o X T SHeet T 2
(1)  wicrTHt (2) wmE
(3) U (4) e

38. fHfefEa dter aREuraal W o= &

I SR | HT S

. S § |rafy S

1. St | Srerd ST

V. T3

AT % TR T IR el STRIEN 567 1 € 2
E

Q) IV, LI

2 1V, 1,1

3) 1,11, 1V

@) IV, 1,010
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39. Given the budgetary parameters including public expenditure remaining the same, then as
a result of imposition of a tax, if the pattern of distribution of income changes, then such
an incidence is called

(1) Effective incidence (2) Monetary incidence
(3) Relative incidence (4) Specific tax incidence

40. Assertion (A) : The sale of T-bills is conducted through an auction.
Reason (R) : The method helps in price discovery.
Select the answer from the code below :

Codes:
(1) (A)istrue, but (R) is false. (2) Both (A) and (R) are true.
(3) (A)is false, but (R) is true. (4) Both (A) and (R) are false.

41. The social cost curve lies above the private cost curve for the producer in case of which of
the following ?
(1) Positive externalities (2) Negative externalities
(3) Public goods (4) Near-public goods

42.  Which one of the following is true in case of Performance and Programme Budgeting
System ?
(1) Its emphasis is on outcome only.
(2) Its emphasis is more on outcome and less on expenditure allocation.
(3) Its emphasis is on expenditure allocation only.
(4) Its emphasis is more on expenditure allocation and less on outcome.

43.  'Who among the following has developed the concept of ‘Effective incidence’ of a tax ?
(1) Ursula K. Hicks (2) J.R.Hicks
(3) H. Dalton (4) A.C.Pigou

44. Voting fails to generate the efficient quantity of a public good because
(1) Lobbying groups use bribes to change people’s votes.
(2) Public goods are not depleted by consumption.
(3) Public goods cannot be withheld from consumption.
(4) Voting does not accurately reflect the magnitude of benefits from public goods.
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39. TN % Ul fH AIEsi-eh o9 Gt & o FeR T84 W &Y & TUuT & I 3 3T & faaeor
I AT | UREd BT €, O T T o ShaTd ol HaT SIuT

(1) ot (2) HifEw
(3) HE T (4) fafere w3 O

40. e (A) : Tt & wreEm J 2-faet # fasht S §
FHROT(R) 39 T § God ST | Terram et & |
7 Fef § ¥ Hel W H 74T A
BT
(1) (A)T=E W= (R) AT |
(2) (A IARX(R)IATTE |
(3) (A) I T, W (R) A |
(4) (A) 3R (R) 3T A € |

41. Tr=fafad & 9 frg AWt o FEiar 8 Qmists @rTd o5k et AnTd o d ST @ g 2
(1) TSRS e (2) RIS dTEra
(3) eI Ut (4) Tepe-qESIE TXqq

42, Ta=Aitehd B § SIF (OIS Ud HEhT SSiieT JoTedt & 9ot B Wl § 2
(1) =& ool IR 9 ST a1 S &
(2) TEH oMy 9 3tfyeh G = 3 W HH SR f&ar Sar € |
(3) THH hael AT e W SR T @1 e |
(4) THH =57 3 W AR 3T IO W 7 AR f5ar STan € |

43. TfafEa 4 9 fhg o & “a9mel Hard’ Fagid o1 faesad fHar 2
(1) 3do &, e (2) SR T
(3) A A (4) ©Hr

44, ToHdt TrESTHE S % §eT T o (RI0T B g SRR BT & SR
(1) T % Ad H 95 &q ‘A qO° WA & |
(2) STHIT ¥ HESTeh a&qS P G el B Y |
(3) ST TEI3T BT STHT F &l bl T Febell |
(4) TATH QrESTE T&I3T % AT T HeT H TE & W TEl qear ¢ |
J-01-16 21 Paper-I1

WWW a?27StuUbiects com


www.a2zSubjects.com
www.a2zSubjects.com

45.

46.

www.a2zSubjects.com

Which of the following item of expenditure is not a part of the plan expenditure ?

(1) Agriculture (2) Defence
(3) Industry (4) Social Services

The Time Series of production yielded following Trend equation :

Y =136 0021 T,

Where Y = Production, T — Time.

From this equation it can be inferred that growth rate of Y in percent terms is

(1) 0.021 2 21
3) 21 4) 021
47.  Which is not a sampling distribution ?
(1) Student’s ‘t’ distribution (2) Fisher’s “F’ distribution
(3) Poisson distribution (4) 2 (chi square) distribution
48. Co-efficient of correlation is independent of which of the following ?
(1) Change of origin only (2) Change of scale only
(3) Change of origin and scale (4) None of these
49.  Which of the following is not satisfied for independence of two events A and B ?
(1) P(A/B)=P(A) (2) P(B/A)=P(B)
(3) P (A, B)=P(A)P(B) 4) P(A,B)=P(A)+P(B)
50. Match the items in List-1 and List-11 and answer from the codes given below :
List—1 List - 11
(@) Standard Deviation (i)  Positively skewed distribution
(b) Stratified Random Sampling (i) Analysis of attributes
(c) Coefficient of Association (iii) Measure of dispersion
(d) Mean > Mode (iv) Probability based sampling
Codes :
@ (b (© (d)
1) @v) @) (i) (i)
2 () i)y (i) (iv)
@) (v) (i) (i) (i)
@) (i) (v) (i) (i)
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45. Trefciad & 9§ =5 i S 9 55 DisT1 o539 ol 660 T8l & 2

1) Fw )
(3) =M (4) TES an

46. 3R S THT e FEfAREad SuRTd GHIeT S §
Y =136 e0.021T
ST Y = 3, T = 999
3T GHIHOT ¥ Y i IRgR i wfaed foha=t gt 2
(1) 0.021 () 2.1
(3) 21 (4) o021

47. fetatEd § | A 91 U Uideel de T8l € 2
(1) ws<tdA (2) TRYR T F A
(3) @t s (4) %2 (chi square) e

48. WedsY 1 ol = 0§ fhaw e Bt & 2

(1) FEd qerag o S8erd (2) HEA T H FECA
(3) Tafg 3R 3FHT | Sgera (4) =T F HE TS
49. A 3R B I "R WAl & T H F DI AT U T @1 el € 2
(1) P(A/B)=P(A) (2) P (B/A)=P(B)
(3) P(A B)=P(A)P(B) (4) P(A,B)=P(A)+P(B)

50. gei-1 Y AR B GHAH get-11 ¥ Y AR A UM Fe T ST
=t - | o= -
(a) T foae (i) & fouHdr o e
(b) TART AGFD® U= (i) o7 fawersor
(c) uaifgueE #Eie (i) 3TdfRRo A
(d) wre" > SgeTh (iv) TTRrRar STenia A==
FT
(a) (b) (©) (d)
1) @v) (i) (iii) (i)
2 () (i) (i)  (iv)
@) (iv)  (iii) (i) (i)
4) (i) (iv) (i) (i)
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